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def threats (board) :
count = 0
for i in range(len(board)-1):
for j in range(i+l, len(board)):
if board[i] == board[j]
count += 1
return count
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def improve (board) :
minimum = threats (board)
improved = [0,board[0]]
for r in range(len(board)):
tmp = board|[r]
cols = list(range(len(board)))
cols.remove (board[r])
for ¢ in cols:
board[r] = ¢
x = threats (board)
if x < minimum:
minimum = x
improved = [r,c]
board[r] = tmp
return minimum
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def solve(size):
b = rndboard(size)
n = threats (b)
while n>0:
x = improve (b)
if x == n:
pass
printboard (b)
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